H19 202,830 H20 169,600 H21 154,180
H19 3,170,190 H20 3,271,375 H21 3,204,657
H19 528,665 H20 655,036 H21 662,842
H19 16,353 H20 11,998 H21 14,374

40,000,000 20,000,000 50.0%
20,000,000 500
21
2 2
12 12 12 13
| 1 1 1 1
84 85 80 76
| 28 27 22 20
0 0 0 0
86 87 82 78
12 12 12 13
29 28 23 20
60 3,029 . 506 5,168
21 20
A) 4,049,126 (4,122,492) 0 )
(B) 4,041,636 (4,184,753) 0 )
(A)-(B) 7,490 ( 62261) 0 )
7,490 ( 62,325) 0 )
98.4 (98.3) 639  (684) 0 )
100.2 (98.5) 1553  (164.4) 3,204,657 (3,271,375)
99 (105) 845  (85.2) 0 )
16 @7 767 (78.1) 0 )
34 5.1) 00 (0.0) 0 0
00 (0.0)
( 238,394  (244,964)

19 19 12
20
20 20
20 (H19 28 _H20 23
20
( 20
24 21
21 H20 23 - H21 20
23 21
24 R
21
27 22 H21 20 —H22 14
22 ~10
22
H20 H26 20 5 27 21 30
(H21.8)
21
H14.4.1
) ( 20 27 )
@)
0]
20




19 20 21

(A) 3,935,571 4,122,492 4,049,126

156 155 140

3,918,037 4,108,009 4,036,053

(B) 3,982,951 4,184,753 4,041,636

3,911,680 4,111,701 3,975,107

3,911,680 4,111,701 3,975,107

437,509 411,441 374,197

71,271 73,052 66,504

3,115 3,300 6,059

17,597 24,599 18,221

(C)=(A)-(B) 47,380 62,261 7,490

(D) 0 0 0

(E) 54,308 64 0

(F)=(D)-(E) 54,308 64 0

(G)=(C)+(F) 101,688 62,325 7,490

(H) 1,361,537 1,259,849 1,197,524

()=(G)+(H) 1,259,849 1,197,524 1,205,014

) 0 0 0

(K) 40,000 40,000 40,000

(L)=(J)+(K) 40,000 40,000 40,000

(M)=(G)+(J) 101,688 62,325 7,490

(N) 1,401,537 1,299,849 1,237,524

(O)=(M)+(N) 1,299,849 1,237,524 1,245,014
19 20 21

726,928 755,429 895,580

445,703 494,575 635,473

1,115,115 1,054,960 1,051,783

40,000 40,000 40,000

964,727 908,820 907,646

104,840 116,458 125,553

38,766 40,869 43,397

110,388 106,140 104,137

1,842,043 1,810,389 1,947,363

437,354 459,407 576,796

405,259 428,875 548,731

104,840 113,458 125,553

104,840 113,458 125,553

542,194 572,865 702,349

40,000 40,000 40,000

40,000 40,000 40,000

1,259,849 1,197,524 1,205,014

859,887 792,362 782,093

1,299,849 1,237,524 1,245,014

1,842,043 1,810,389 1,947,363




